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Who  propounded the 'Need
Hierarchy Theory' of Motivation ?

[1] Hull

[2] Maslow

[3] Atkinson
[4] Thomson

Which of the following isnot a
projective technique of personality
assessment ?

[1] Word-association

[2] Sentence completion
[3] Expressive movement
[4] Sociometry

Which of the following isnot an
extrinsic motive ?

[1] Competing in sport for trophy
[2] Doing job for salary

[3] Doing social service for self-
satisfaction

[4] Buy one get one free

D @ @ @T1@ematic Apperception Test is used

to measure the ........... of students.
[1] Intelligence

[2] Aptitude

[3] Attitude

[4] Personality
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$ Which of the following statement is

%

&

not correct with reference to
adjustment ?

[1] It creates imbalance.

[2] It motivates to change the life as
per the demand of the situation.

[3] It gives ability to bring desirable
changes in the conditions of
environment.

[4] In the absence of adjustment one
is surrounded by tension and
anxiety.

According to Piaget's cognitive
development theory, the ‘'ability of
reversibility' develops during which
developmental stage ?

[1] Sensory motor

[2] Pre-operational

[3] Concrete-operational
[4] Formal-operational

Which of the following match isot
correct ?

Erikson's Stages of  Serial
Psycho-social Number of
Development Stages

[1] Initiative Vs Guilt 1 Stage 3

[2] Identity Vs Role 1 Stage 5
Confusion

[3] Autonomy Vs 1 Stage 1
Shame and Doubt

[4] Industry Vs 1 Stage 4
Inferiority
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Which of the following elements is
not related to Skinner's operant
conditioning theory ?

[1] Extinction

[2] Discrimination

[3] Spontaneous recovery

[4] Reinforcement

Which of the following statement is

not correct with reference to Attitude ?

[1] Attitude has  motivational-
affective characteristics.

[2] Attitude can range strongly
positive to strongly negative.

[3] Attitude have a subject-object
relationship.

[4] Attitude is innate and acquired
both.

Which of the following statement is

correct about the development of

children ?

[1] Development is a product of
only hereditary.

[2] Development follows a random
pattern.

[3] Development is a cumulative
process.

[4] Different aspects of development
are not interrelated.
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Cattell's culture free test of
intelligence is a type of :

[1] Individual Verbal Test

[2] Group Verbal Test

[3] Non-Verbal Test

[4] Verbal and Non-Verbal Test

Which of the following isnot a
characteristic of creativity ?

[1] Originality [2] Flexibility
[3] Rigidity [4] Fluency

Which of the following factors doewmot
affect the teaching-learning process ?

[1] Teaching skill of teacher

[2] Mental health of teacher

[3] Subject knowledge of teacher
[4] Physical appearance of teacher

What kind of changes does growth
bring about in children ?

[1] Structural

[2] Functional

[3] Structural and functional both
[4] None of these

'‘Acceleration’ is an important plan
for education of which type of
special children ?

[1] Gifted

[2] Slow learner

[3] Learning disabled

[4] Mentally retarded



%

% 5! ( 1 n 6 1 2
5% +2 " &%

2 " 82+, *

[1] "’
[2] 2"
[3] "’
[4]
$ 9 " E®% " L , M

" NO +)K + 4,
1] <, 1 0P
2] 04' P-
[3]
4] A 2%

( 2# 9+B

QH 2 A= ' +

. % 5 "6 '+ %
9 +,

1 2 #

2] 4 2#
B 7 2#
4 = 2 #

' 123%45 "
23%4 =Q £A2*

[1] 5

[2] "

3] "5/

4] 7 +%

%

What type of reinforcement schedule
is to reinforce each correct response of
the learner, in operant conditioning ?
[1] Fixed interval

[2] Variable interval

[3] Fixed ratio

[4] Continuous

'‘Development proceeds in the
direction of longitudinal axis (head
to foot)', called :

[1] Cephalic-Caudal

[2] Proximodistal

[3] Spiral

[4] Circular

A type of intelligence test in which
the questions are similar in difficulty
level but more importance is given to
the time element :

[1] Speed Test

[2] Power Test

[3] Verbal Test

[4] Performance Test

Which of the following isnot a
subjective method of personality
assessment ?

[1] Interview

[2] Observation

[3] Autobiography

[4] Word Association
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Meenal is average in intelligence,
low in creativity and high level in
adjustment. This is an example of :
[1] Inter Individual Differences

[2] Intra Individual Differences

[3] Observable Differences

[4] Expected Differences

Which type of curriculum did Bruner
suggest to follow for the cognitive
development of children ?

[1] Inclusive curriculum

[2] Special curriculum

[3] Spiral curriculum

[4] Integrated curriculum

Who developed the Socio-cultural
theory of development ?

[1] Vygotsky
[2] Erikson
[3] Kohlberg

[4] Bronfenbrenner

What is the mechanism called,
through which a child tries t
change his own ego to that of
someone else ?

[1] Identification
[2] Rationalization
[3] Sublimation

[4] Projection



' 1 E- <P #_ Which of the following component

( 'op " +2P * is not the part of Guilford structure
of Intellect model ?
1] &% 2] F [1] Operation [2] Cognition
B8] =% [4] 5 [3] Content [4] Product
( 2% ( $  Who propounded the Triarchic
% * theory of Intelligence ?
1 P 2] <P [1] Gardner [2] Guilford
[3] - [4] [3] Sternberg  [4] Vernan
0< 9,1 [/ 2 '0 % 'Family and School' are the examples
( ' $ ? %) of which environmental system in
% #2% +# +, 7 Bronfenbrenner's Bio-ecological
Model theory ?
1 & - [1] Macro system
2] 'H& - [2] Micro system
[3] 490 - [3] Exosystem
4] & ' - [4] Chromosystem
' 1 %U +2 +22 & Which of the following pair isnot
+, ¥ correct ?
( ( Theory Theory
Propounder
n %9 - F Y [1] Piaget — Cognitive
( Development Theory
2] P - '9 "6 [2] Bandura — Social Learnin
( Theory
3] 4 - " '9 [3] Erikson — Psycho-socio
( Development Theory
4 % 5 2 ( [4] Vygotsky— Moral Developmer

Theory



' 12 "%

3%4 2 =+2P*

"2 " 2'"
9V

2] % 8 '

[3] "’ B

4] 3%+ ' " %

% % 8# 3%45
" '9%8H % +1)' /%
2%+ = T 2H+*
[1] °
[2] +,P<2P
81 P;
[4 O -

CF : |
- - 6 +28*
[+
2] >
B8] & °

Which of the following isnot the

characteristic of a well-adjusted person ?

[1] Awareness of his own potentials

and limitations
[2] Respecting himself and others
[3] Balanced aspirations

[4] Rigidity in behaviour

"Mental health is the full and
harmonious functioning of the whole
personality.” This definition of

mental health is given by whom ?
[1] Menninger

[2] Hadfield

[3] Drever

[4] Waltin

Out of the following Psychologists,

who isnot related with Gestaltism ?
[1] Kohler

[2] Koffka

[3] Kretschmer

[4] Wertheimer
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— Select the appropriate one worg

substitution for the following :
Former students of a school or college

[1] Emblem [2] Alumni
[3] Expert [4] Incharge

Change the Narration :

"I'm taking the children to the
zoo tomorrow." She said.

[1] She told that she would be
taking the children to the zoo the
day after

[2] She said that she will take the
children to the zoo the next day

[3] She told that she will be taking
the children to the zoo

[4] She will take the children to the
z0o, she said

Choose theorrectsynonym of :
Genius

[1] Happy

[2] Cheerful
[3] Talented
[4] Comfort

Select the appropriate preposition for

the blank :

He has not yet recovered .......... hig
illness.

[1] over [2] in

[3] at [4] from

— Choose the option that brings out the

meaning of the underline idiom :

A lion's share of India's annual
budget is for defence.

[1] major share
[2] minor amount
[3] small

[4] very little

Select thecorrectantonym of :

Gloomy
[1] Praise [2] Coarse
[3] Cheerful [4] Dismal

Choose the appropriate conjunction
for the blank :

| shallnotgo .......... | am invited.
[1] and [2] unless
[3] but [4] there

Change the narration to Reported
Speech. Choose thight option :

"Who has been using my
typewriter ?" Said Mother.

[1] Mother asked who has been
using her typewriter

[2] Mother said who was using her
typewriter

[3] Mother asked who had been
using her typewriter

[4] Mother asked her typewriter was
being used by who



— Select thecorrect meaning of the

underlined phrasal verb :
Who can say what will turn upext ?

[1] remember
[2] divide

[3] end

[4] happen

Choose the part of sentence that ha
error :

she does ndtresemble tdeither of

A B C
her parents
D
[1] A [2] B
[3] C [4] D

Select thecorrecttense form from the
options given :

When | first (come) to this house, it
(be) a very quiet area:

[1] comes, is

[2] came, was

[3] coming, is

[4] come, are

Sel_ect the_:correcttense form from the
options given :

Peter (try) to come in quietly but his
mother (hear) him.

[1] tried, heard
[2] trying, hears
[3] was trying, was hearing

1S

[4] is trying, hears

Change the voice from Active to
Passive and select therrectoption :

Bees make honey
[1] Honey is make by bees
[2] Bees are making honey
[3] Honey are made by bees
[4] Honey is made by bees
Change the voice and select the
correctoption :
Somebody has put out the light.

[1] The light
somebody

has put out by

[2] The light has been put out by
somebody

[3] Somebody has been out to put
light

[4] The light is being put out by
somebody

Select thecorrect preposition for the

blank :
I shalldoit ......... pleasure.

[1] in

[2] with

[3] about

[4] over




# $ % &'
1" #$ % & #" (1) *
. + ,%!-. & /0 (__ Earth is related to Axis in the same
#., %!/ & |/ way as wheel is related to :
111 % [1] Tyre
2] % [2] Car
[3] 23 [3] Road
[4] )%. [4] Hub
: 106" % /) [/ Anil introduces Prashant, "He is the
44 % | I husband of the grand daughter of the
/055* | % & father of my father". How is
/106 Prashant related to Anil ?
[ 7 [1] Brother
[2] +.+ [2] Brother in law
3] .+ [3] Nephew
[4] 1 [4] Son
% ‘% 8/ . + %/ Four groups of letters are given
# . +0 /0 below, three of them are alike in
7 /0 # 9:1 certain way while one is different,
choose th@ddone :
[1] STUA [1] STUA
[2] RQPA [2] RQPA
[3] MLKA [3] MLKA
[4] HGFA [4] HGFA



LXF, MTJ, NPN, OLR, ........
[1] PHV
[2] PIU
[3] PIW
[4] PKX
' 81 "786'
‘Study very hard''958' 'Hard

work pays' '645' 'Study and
very 2< | 6

work
[1] 8
2] 6
[3] 7
[4] 5

A, B 40 1% '

/| ¢c,B 40 .1% 48 [/
C, A /| 6

[1] '8
2] !
[3] #$98

[4] =

(*_ Find the next term in the following

letter series :

LXF, MTJ, NPN, OLR, ........

[1] PHV

[2] PIU

[3] PIW

[4] PKX

In a certain code '786' means 'Study
very hard' '958' means 'Hard work

pays', '645' means 'Study and work’,

which is the code for 'very' ?

[1] 8

[2] 6

[3] 7

[4] 5

If A is 40 meter South-West of B, C

is 40 meter South-East of B, then C

is in which direction of A ?
[1] East

[2] West

[3] North-East

[4] South
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[1] 120
[3] 135

[2] 125
[4] 140

a*=b,b¥Y=c
</ 6

[2] 1

0%c?=za,
Xyz

[1] abc

1

B~

/9 1. 91 18=

.+ + 4,56,15 18 18=
+ /

[4] ab

[1] 800 [2] 225

[3] 900 [4] 361

(\/g) 5/2, (\/g) 3/2 </ 6

1
[t =

1

SIETT

1
32¢

[3]

1

1] 62

(+_ The average marks obtained by 150

|+

candidates was 35. If the average
marks of passed candidates was 39
and that of the failed candidate was
15, find the number of candidates
who passed the examination :

[1] 120 [2] 125
[3] 135 [4] 140

If a*=b,bY=c and c?*=a then

what is the value ofyz?

[1] abc 2] 1
1
[3] 2be [4] ab

Find the smallest perfect square
number which is exactly divisible by

4,5,6,15and 18 :
[1] 800 [2] 225
[3] 900 [4] 361

What is the value of

(\/E) 5/2, (\/g) 3/2 ’

[1 -z

[2]

[3]

[4]
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[1] 30 D
[2] 40 D
[3] 60 D
[4] 45 D
25 . . F 60
1 /0O 10 .#.F
1 6
[1] 125
[2] 92
[3] 100
[4] 150
x+t=5/ X+ =
X X
</ 6
[1] 125 [2] 110
[3] 115 [4] 105
) - I <
/| 6
2, 7, 24, 77, 238, ........
[1] 721 [2] 722
[3] 723 [4] 733

% 15 D
D E

6

|+

|+

A sum of money doubles itself in 15
years at compound interest. In how
many years it will become 8 times at
the same compound interest rate ?

[1] 30 years
[2] 40 years
[3] 60 years
[4] 45 years
If 25 men can reap a crop in 60 days,

then in how many days will 10 men
reap the crop ?

[1] 125 days
[2] 92 days
[3] 100 days
[4] 150 days

If x+1 =5, then what is the value
X

1
of X3+— ?

3
[1] 125 [2] 110
3] 115 [4] 105

Find the next term in the following
number series :

2, 7, 24, 77, 238, ........
[1] 721
[3] 723

[2] 722
[4] 733
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[1] 8 [2] 10
[3] 11 [4] 4

[1] 50%
[2] 100%
[3] 125%
[4] 150%

- T+

+

-/0 15-5,5 20+10

</ 6
[1] 70
[2] 78
[3] 75
[4] 73
. G) 72,000H!

< 20%
# G) A 8(<

[1] 60,000HJ
[2] 50,000HJ
[3] 40,000HJ
[4] 65,000HJ

[ /0
6

+

|+

Find the value of :

\/ + 4+ +
[1] 8 [2] 10
[3] 11 [4] 4

If each side of the square be
increased by 50%, then find the
percentage increase in the area :

[1] 50%

[2] 100%

[3] 125%

[4] 150%

If © stands for , stands for+, + stands
for ,, - stands for, then what is
thevalueof 155, 5" 20+10?

[1] 70
[2] 78
[3] 75
[4] 73

By seling a commodity for
Rs. 72,000, a person made a profit of
20%. What was the cost price of that
commodity ?

[1] Rs. 60,000
[2] Rs. 50,000
[3] Rs. 40,000
[4] Rs. 65,000
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8, 13, 21, 32, 47, 63, 83
[1] 13
[2] 32
[3] 47
[4] 63

L M
% /0* &7649 1 M
+ /0 91 M J
71DL% /) ./ 6

[1] 24
[2] 16
[3] 8
[4] 4

I G + . .) N
"= 0% #( /0

[ "/

2] )
[3] )H
4] ! .|

[+ +/:2 71!
[1] / OP3

[2] )H"

[3] F%. &

[4] ! .

+ /0

I-DL 1% %

+

Which term is wrong in the
following series ?

8, 13, 21, 32, 47, 63, 83
[1] 13
[2] 32
[3] 47
[4] 63

A solid cube is coloured red on all
faces. It is cut into 64 smaller cubes
of equal size. How many small cubes
have no face coloured ?

[1] 24
[2] 16
[3] 8
[4] 4

The place, which was visited and
mentioned by Chinese traveller Yuan
Chwang :

[1] Agroha

[2] Sugh

[3] Kurukshetra
[4] Panipat

The district, where Dolomite is found :
[1] Mahendragarh

[2] Gurugram

[3] Faridabad

[4] Panipat
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) Under which scheme of Haryana

Government the socio-economic
data of all the families of Haryana is
being created ?

[1] Antyoday Parivar Utthan Yojna
[2] Parivar Pehchan Patra Yojna

[3] Mukhyamantri Parivar Samriddhi
Yojna

[4] Jan Aadhar Yojna
Percentage of posts which have been

reserved for women in Panchayati
Raj Institutions of Haryana :

[1] 25% [2] 33%
[3] 66% [4] 50%
The district, where first time in

Haryana E-challan has been
introduced :

[1] Gurugram [2] Panchkula
[3] Hisar [4] Rohtak

'‘Global City Project’ is being
developed by :

[1] HSIIDC, Govt. of Haryana

[2] GMDA, Govt. of Haryana

[3] HUDA, Govt. of Haryana

[4] Ministry of Urban Development,
Govt. of India
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The award, which is given to a sport
coach for excellence in coaching by
the Haryana State :

[1] Dronacharya award
[2] Guru Vashistha award
[3] Maharana Pratap award

[4] Arjuna award

The position of Haryana in India in
respect of area is :

[1] 11th
[2] 21st
[3] 15th
[4] 18th

The smallest (in term of area) wild
life sanctuary is :

[1] Bhindawas
[2] Nahar

[3] Saraswati
[4] Chhilchhila

The de jure head of the State
Administration in Haryana is :

[1] Chief Minister of the State
[2] Divisional Commissioner
[3] Advocate General of the State

[4] Governor of the State




Direction : Answer the following questions by selectingrtiast appropriateoption.
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[1] 4324432
[2] 3244324
[3] 3243334

[4] 4324334

__ In a complete cycle of which Tal,

'‘Chaugun’ of Ektal, 'Tigun' of Dadra,
and 'Dugun' of Jhaptal's one cycle
can be possible ?

[1] Rupak [2] Jhaptal
[3] Teental [4] Chautal

Rag 'Khamaj' is a :

[1] Sandhi Prakash Rag
[2] Parmel Praveshak Rag
[3] Ashraya Rag

[4] Sankeern Rag

What is thecorrect shruti interval of
given swaras of Shadaj-Gram

according to Bharat ?

Sa?Re?Ga?Ma?Pa?Dha?Ni?

Sa

[1] 4324432
[2] 3244324
[3] 3243334

[4] 4324334
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Which Dance expresses emotions on

a graceful, delicate and gentle level ?

[1] Tandav
[2] Lasya
[3] Panchpani

[4] Narashansi

Who is considered as the patron of

Kathak Dance ?

[1] Mansingh Tomar

[2] Sultan Hussain Sharki
[3] Wajid Ali Shah

[4] Haider Ali

Which instrument is played by 'Bow' ?

[1] Sitar

[2] Sarod

[3] Mandolin

[4] Esraj
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Fill in the blank :

TR Swara Samoohah

Syadragvyanjanshaktimaan."
[1] Shruti [2] Swara

[3] Mel [4] Raga

Which Community isnot related to
folk music of Haryana ?

[1] Jogi

[2] Bhat

[3] Saangi

[4] Warli

Identify the composition by given
'bols' :

Tit Kat Gadi GanDha-, Tit Kat

Ve

2

Gadi Gan Dha$ |Tit Kat Gadi GarjDha
0 3

[1] Kayda

[2] Tihai

[3] Mohra

[4] Rela
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__ Match the following :

A. Sa Re Sa, Ga Ma.
Dha?

B. Dha Ma Re, Saii.
Re Dhd8a

C. Ga Re Ga Paijii.
Dha Ni Sa

D. Ni@e Ga, Pa Reiv.
Ga, Re Sa
Codes:
A B C D
[1] iv @i i
[2] i i i v
[3] iv i i i

4 v i i

Select the 'Sanyukt Hast Mudra'

from the given options :
[1] Pataka, Ardh Pataka
[2] Shuktunda, Shikhara
[3] Anjali, Karkata

[4] Mrigsheersh, Mayura

Yaman

Alhaiya

Bilawal

Durga

Hamir
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Who among the following is a

famous Dancer ?
[1] Ravi Shankar
[2] Udai Shankar
[3] Lakshmi Shankar

[4] Anushka Shankar

What is meant by 'Sarika' ?

[1] 'Sarna Chatushtayi' described by
Bharat

[2] Ink used in leather instruments
[3] Frets placed in string instruments

[4] A type of Vedic period's Veena

Find thecorrectrelation :

If 'Shruti : : Swara', then 'Thaat : : ?'
[1] Naad

[2] Rasa

[3] Saptak

[4] Raga
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Which subject isnot mentioned in

Natyashastra ?
[1] Rag

[2] Sarna

[3] Kutup

[4] Shruti

Which dance form is a mixture of
Bharatnatyam and dssi dance

style ?

[1] Manipuri

[2] Kathak

[3] Kathakali

[4] Kuchipudi

Select the Tals according to the
increasing number of their beats :

[1] Ektal, Jhaptal, Rupak, Trital

[2] Rupak, Ektal, Jhaptal, Trital

[3] Jhaptal, Rupak, Trital, Ektal

[4] Rupak, Jhaptal, Ektal, Trital



# % * '$ F#

[1] +
[2]
3] G
[4]
" " F# B
$ $

[1] # #$ #$ #
#

2] # #$ #S$ #
#

[3] #$ #9$ #

4 # #3% #9$ # #

In which order does the 'wire of

Baaj' occur in Sitar ?

[1] First

[2] Third

[3] Fifth

[4] Seventh

Find the next sequence of given

Alankar :

Sa Re Sa Ga Re Ga, Sa Re Ga Re, Sa
Re Ga Sa Ga Re

[1] Re Ga Re Ma Ga Ma, Re Ga Ma
Pa, Re Ga Ma Pa Ma Ga

[2] Re Ga Re Ma Ga Ma, Re Ga Ma
Ga, Re Ga Ma Re Ma Ga

[3] Re Ga Re Ga Ma Pa, Re Ga Ma
Pa, Re Ma Ga Re Ma Ga

[4] Re Ga Ma Pa Ma Ga, Re Ga Ma
Pa, Re Ma Ga Ma Ga Re
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The traditional tune of 'Vande

Matram' song is based on which

Raga ?
[1] Des [2] Desi
[3] Deskar [4] Devgandhar

Which is wrongly matched

according to Bhatkhande Notation ?
[1] Kan — S&°

[2] Meend — —~

[3] Jamjama—

[4] Sam-0

Assertion (A) Violin and Dilruba
both instruments are played by

Plectrum.

Reason (R) :The Violin and Dilruba

have 6 main strings.
[1] Only (A) is true.
[2] Only (R) is true.
[3] (A) and (R) both are true.

[4] (A) and (R) both are false.



_TH # % % =K ___ How many numbers of 'MEL'
# +&, (Thaat) are  mentioned in
Brihaddeshi ?
[1] LO [1] Zero
2] L [2] Nineteen
[3] [3] Twenty Three
[4] + [4] Seventy Two
_ %* I # : ____'Jana Gana Mana' was adopted by
> 1=M -# " 00 the Constituent Assembly of India as
(, the National Anthem on :
[1] 27 $ 1911 [1] 27 Decembe$1911
[2] 28N $1919 [2] 28 Februar$1919
[3] 14" 4 $ 1947 [3] 14 Augus$1947
[4] 24* $ 1950 [4] 24 Januar$1950
__ % H' : #9% : __ Which two instruments
1 G# + +& , characteristics are found in 'Dilruba’ ?
[ 0 $ = [1] Violin, Guitar
2] $#&2 [2] Sarod, Mandolin
B] $ [3] Sitar, Sarangi
4] $ * [4] Tabla, Pakhawaj
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Which one is a 'Shadaj-Gram-

Moorchchhana' ?

[1] Harinashwa

[2] Uttarayata

[3] Shuddh Madhya

[4] Margi

How many holes are there for '‘Baddi’

in the 'Pudi' of Tabla ?

[1] Eight

[2] Ten

[3] Twelve

[4] Sixteen

Which pair of Raga has the same
Dominent note ?

[1] Khamaj, Kafi

[2] Kafi, Yaman

[3] Bhupali, Bhairav

[4] Des, Vrindavani Sarang
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Sign \U ' is depicted in Paluskar

Notation for :
[1] 1/4 Beat
[2] 1/2 Beat
[3] 1/8 Beat

[4] 1 Beat

Which of the following 'Bol' is
generated by 'Dagga (Bayan)' of

Tabla ?

[1] Ta

[2] Tunn

[3] Na

[4] Ga

How many 'Alankars' are mentioned
in Brihaddeshi ?

[1] 19

[2] 33

[3] 63

[4] 68
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The text 'Raga-Vigyan' is authored
by :

[1] V. D. Paluskar

[2] V. R. Patvardhan

[3] V. N. Bhatkhande

[4] Ravi Shankar

Match the following :
A. Bhatiyali i. Rajasthan
B. Jhoomar ii. Uttar Pradesh
C. Kajari iii. Haryana
D. Maand iv. Bengal
Codes::

A B C D
[1] i iV
[2] i i v [
[3] iii v i i

[4] iv i i i
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The sign of 'Mandra Saptak Swara'
according to Paluskar Notation

System is :

[1] Dot below the Swara

[2] Dot above the Swara

[3] Vertical line above the Swara

[4] 'Halant' under the Swara
.............. 'Vande Matram' is
obviously and indisputably the first
National song of India with a great
historical tradition. It is intimately

connected with our struggle for

freedom."

Who gave the above statement in

Constituent Assembly in 1948 ?

[1] Subhash Chandra Bose

[2] Jawaharlal Nehru

[3] Bhagat Singh

[4] S. Radhakrishnan
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What is the number of 'KARAN'
used for dance, mentioned in the 4th

chapter of Natyashastra ?
[1] 36
[2] 72
[3] 108

[4] 122

Find theoddone :

[1] Sam

[2] Khali

[3] Gat

[4] Vibhag

Who among the following isiot a

disciple of Vishnu Digambar

Paluskar ?

[1] Omkar Nath Thakur

[2] Narayan Moreshwar Khare
[3] Krishna Rao Shankar Pandit

[4] Narayan Rao Vyas
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Which among the following scholars
is not a famous folk art expert of
Haryana ?

[1] Dada Lakhmi Chand
[2] Baje Bhagat
[3] Mehar Singh Dahiya

[4] Devilal Samar

When and where did Pandit
Bhatkhande organize the first music

conference ?

[1] 1916, Baroda
[2] 1901, Lahore
[3] 1924, Lucknow

[4] 1889, Pune

How many Shuddh and Vikrit swara

are mentioned by Sharangdev ?
[1] 7 Shuddh, 5 Vikrit

[2] 7 Shuddh, 12 Vikrit

[3] 7 Shuddh, 15 Vikrit

[4] 7 Shuddh, 22 Vikrit



H+&
[1] H - 2@
2] "V# - =<O#
[38] ; + - #!
[4] #+ - "2

F# #1 $  =<0#$ (
( 750 # 06 %" A’
+ F# & +&,

1] 2%#7 #$ 9

21 $ 2% S$HT #

B] $ 2%#7 #$

4 $#H7 #$ $ 2

Which one of the following is

wrongly matched ?

[1] Tiruvadira — Kuchipudi

[2] Devdasiattam— Bharatnatyam

[3] Lai Haroba — Manipuri

[4] Mahari — Odissi

Which is the correct sequence o
'‘Avnaddh’ instruments used in
Manipuri, Bharatnatyam, Kathak and

Kathakali dances respectively ?

[1] Chenda, Mridangam, Pung,
Tabla

[2] Pung, Chenda, Tabla,
Mridangam

[3] Tabla, Chenda, Mridangam,
Pung

[4] Pung, Mridangam, Tabla,
Chenda



4 > 1=M 6 Identify the line of the National

+ Anthem by given notation :
" | #——-" "SaSa Re Re GaGaRe Ga|Ma——--"
~ — — S 0 ~

[1] #* - —=- [1] Tava Shubha NaMe Ja—|Ge ———
~— s —— — e A g
[2] RO |. - - [2] Bha Rat Bha Gya Vi | Dha—Ta —
N~ N—— N ~—
*
NN [3] Gahe Tava Jaya Ga~ | Tha - - -
[4] *O *0 *0 *0 |+ -——- [4] Jaya Jaya Jaya Jaya | He — — —
— 0 T —— N
# 0 $ 0 ___ Which of the following Raga is
#0 (#% +'+&, rendered in the first 'Prahar' of the day ?
[1] N [1] Kafi
[2] [2] Bilawal
8] #* [3] Khamaj

[4] +# [4] Hamir
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'‘Aroh — Sa Re Ma Pa Ni Sdepicts

which Ragas ?

() Durga

(ii) Des

(iii) Vrindavni Sarang
(iv) Bilawal

[1] () and (ii)

[2] (ii) and (ii)

[3] Only (i)

[4] (i), (iii) and (iv)

budhaih.”

Sa Ragah Kathyate

According to the definition quoted in

the texts, which elements are

required for Raga ?

[1] Swara, Varna, Ranjakta

[2] Thaat, Jati, Tali

[3] Sthai, Antra, Sanchari, Abhog

[4] Singing time, Prohibited note,
Flat note



# $ 4 ____ Which of the following Raga's

#0- A O# "4- dominant note is considered an
#L0 +& exception according to Time-Theory ?
[1] #* [1] Khamaj
[2] +# [2] Hamir
3] [3] Bilawal
[4] [4] Bhupali

=<0 4D " - %" "0 __ According to Natyashastra, what is
# .0#60 +&, the medium of 'Angik Abhinay' ?
"% 50 % [1] Ang, Pratyang, Upang
2] +40% H'$ & [2] Hasya, Karun, Raudra
31 ( $ #/ [3] Sarthak Bol, Mishrit Bol
4] . # $ 750.# [4] Lokdharmi, Nrityadharmi
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[1] (A) 50 +&
[2] (R) 50 +&
B ® ( ®
41 @A (R

50 +&
" 50 +&

The
Bhatkhande are :

books written by Pandit

I. Abhinav Geetanjali

[I. Abhinav Rag Manjari

lll. Sangeet Chintamani

IV. Shrimallakshysangeetam

[1] land I

2] Il and IV

[3] II, I and IV
[4] 1, 11, lland 1V

Assertion (A) : Rag Bhairav is
considered in 'Sandhi Prakash Rag'
and 'Ashray Rag' both.

Reason (R) : Rag Yaman is
considered in 'Sankeern Rag' and
'Parmel Praveshak Rag' both categories.

[1] Only (A) is true.
[2] Only (R) is true.
[3] (A) and (R) both are true.
[4] (A) and (R) both are false.
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[2] 30

[3] 96

[4] 264
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How many 'Gram Ragas' are

mentioned by Sharangdev ?

[1] 8

[2] 30

[3] 96

[4] 264

Which of the following Ragas were

created by Amir Khusro ?

[1] Darbari Kanhda, Miyan ki

Sarang

[2] Bhavmat Bhairav, Saheli Todi

[3] Priyadarshini, Chandranandan

[4] Saajgiri, Sarparda
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[1] 15
[2] 36
[3] 90

[4] 225
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Which one is thecorrect writing of
Jhaptal according to Paluskar
Notation System ?

[1] Dhi Na [Dhi Dhi NaTi Naphi Dhi Na

2 0 3

[2] Dhi Na Dhi Dhi N&Ti NaPhi Dhi Na

1 2 + 3

[3] Dhi Na Dhi Dhi NaTi NaDhi Dhi Na

1 3 + 8

[4] Dhi NaDhi Dhi Na Ti Na Dhi Dhi Na

+ 2 ’ 3

Maximum how many ‘Audhav-
Sampurn' Jati Raga can be generated

from a 'Thaat' ?
[1] 15
[2] 36
[3] 90

[4] 225
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‘Devdasi Attam' dance is known by

which other name also ?
[1] Kathak

[2] Kathkali

[3] Bharat Natyam

[4] Manipuri

Symbol of% (half) beat according

to Paluskar Notation System is :
[ [2] O

[3] * [4] 7

A short set of Tabla 'Bols', which are
played at the beginning of Tal is

called ?
[1] Kayda
[2] Mohra
[3] Rela

[4] Laggi



% ' $ "0 ___ Which elements are required for

+&, '‘Nada' ?

11 *$ 0 [1] Water, Air
21" $ 0 [2] Sky, Air

8] *$ 7( [3] Water, Earth

4 0$"R [4] Air, Fire









